Chapter 12 Sources of Finance

Answer – Test your understanding 1
(a)

Shares are valued at $2.50 each

If shares are only expected to be worth $2.50 each on conversion day, the value of 40 shares will be $100, and investors in the debt will presumably therefore redeem their debt at 110 instead of converting them into shares.

The market value of $100 of the convertible debt will be the discounted present value of the expected future income stream.

	Year
	
	Cash flow
	DF @ 8%
	PV

	
	
	$
	
	$

	1
	Interest
	10
	0.926
	9.26

	2
	Interest
	10
	0.857
	8.57

	3
	Interest
	10
	0.794
	7.94

	3
	Redemption value
	110
	0.794
	87.34

	
	
	
	
	113.11


The estimated market value is $113.11 per $100 of debt.

(b)

Shares are valued at $3 each

If shares are expected to be worth $3 each, the debt holders will convert their debt into shares (value per $100 of stock = 40 shares x $3 = $120) rather than redeem their debt at $110.

	Year
	
	Cash flow
	DF @ 8%
	PV

	
	
	$
	
	$

	1
	Interest
	10
	0.926
	9.26

	2
	Interest
	10
	0.857
	8.57

	3
	Interest
	10
	0.794
	7.94

	3
	Value of 40 shares
	120
	0.794
	95.28

	
	
	
	
	121.05


The estimated market value is $121.05 per $100 of debt.

Examination Style Questions
Answer 1
(a)(i)

Theoretical ex-rights price

	
	£

	Original shares 8 at £4.20
	33.6

	Rights share 1 at £2.40
	2.40

	
	36.00

	
	

	Ex-rights price £36/9
	4.00



[3 marks]
(a)(ii)

Value of rights

	
	£

	Value of a share following the rights issue
	4.00

	Cost of acquiring a rights share
	2.40

	
	1.60

	
	

	Value of rights per original share (£1.60/8)
	0.20



[2 marks]
(b)(i)
Share price as at 30 November 2007 – rights issue

Workings – Existing P/E ratio

	
	£m

	Operating profit
	60.0

	Less: Corporation tax (20%)
	12.0

	Profit available to shareholders
	48.0

	
	

	EPS (£48m/160m)
	0.30

	
	

	P/E ratio (£4.20/£0.30)
	14 times


	
	£m

	Operating profit in one year’s time
	75.0

	Less: Corporation tax (20%)
	15.0

	Profit available to shareholders
	60.0

	
	

	
	£

	EPS (£60m/180m)
	0.333

	Expected P/E ratio (14 x 95%)
	13.3

	Share price in one year’s time (EPS x P/E ratio)
	

	(=£0.333 x 13.3)
	4.43



[4 marks]
(b)(ii)
Share price as at 30 November 2007 – debenture issue
	
	£m

	Operating profit in one year’s time
	75.0

	Less: Debenture interest (£48m x 7.5%)
	3.6

	
	71.4

	Less: Corporation tax (20%)
	14.3

	Profit available to shareholders
	57.1

	
	

	
	£

	EPS (£57.1m/160m)
	0.357

	Expected P/E ratio (14 x 106%)
	14.84

	Share price in one year’s time (£0.357 x 14.84)
	5.30



[6 marks]
Under the share option, the share price in one year’s time will rise by 5·5% above the pre-rights share price whereas, under the debenture option, the rise will be 26·2%. Although the debenture issue will also increase the financial risk borne by shareholders, there is compensation in the form of significantly higher returns. Based on balance sheet values, the gearing ratio under the debenture option, as at 30 November, will be:
= [Debenture capital/(Debenture capital + equity capital)] x 100%

= [48m/(48m + 57·1m + 245m)] x 100%

= 13·7%
This would normally be regarded as a low gearing ratio and so the financial risks arising from a debenture issue do not appear to be burdensome.

[2 marks]
(c)

1.
The price at which the rights shares are offered to shareholders is not normally of critical importance.
2.
Whatever the agreed price, the total assets of the business, and the proportion of those assets to which each shareholder is entitled, will be unaffected. To raise the £48m required, the company could have made a one-for-four issue at £1·20 per share, a one-for-two issue at £0·60 per share and so on without affecting the wealth of the shareholders. It is only the number of shares held by each shareholder that will be affected.
3.
However, the issue price of the rights shares must be below the market price of the shares. If the rights price is not sufficiently below the market price, the issue will not be attractive and will fail.
Marking Scheme
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Answer 2

(a)

A stock exchange is, in essence, a market place that is designed to bring together providers of capital and companies seeking to raise capital. It acts as both a primary market and a secondary market for securities. The purpose of each of these markets is as follows:
(i)
Primary market. In this role, a stock exchange facilitates the issue of new shares and debentures by public companies. These companies would find it more difficult to raise finance without an organised and regulated market in which issues of securities can take place.
[2 marks]
(ii)
Secondary market. In this role, a stock exchange facilitates the purchase and sale of ‘second-hand’ securities. Investors are more likely to purchase shares and debentures in companies if they are confident that these securities can be sold when required. A stock exchange enables investors to transfer their investments easily and quickly.
[2 marks]
(b)

The advantages of a company obtaining a stock exchange listing are as follows:
Share transferability As mentioned above, shares that are listed on a stock exchange can be transferred with ease and this, in turn should encourage investment.
Cost of capital Shares in listed companies are perceived by investors as being less risky than shares in equivalent unlisted companies because of their marketability. As the risks associated with listed shares are lower, the returns required by investors will also be lower. Hence, the cost of capital for listed companies will be lower.
Share price Shares that are traded on a stock exchange are closely scrutinised by investors, who will take account of all available information when assessing their worth. This results in shares that are efficiently priced, which should give investors confidence when buying or selling shares.
Company profile Companies listed on a stock exchange have a higher profile among investors and the wider business community than unlisted companies. This higher profile may help in establishing new contacts or in developing business opportunities.
Credit rating A listed company may be viewed by the business community as being more substantial and, therefore, more creditworthy than an equivalent unlisted company. This may help in obtaining loans and credit facilities.
Business combinations A stock exchange listing can facilitate takeovers and mergers. A listed company can use its shares as a form of bid consideration when proposing a takeover of another company. Shareholders in a target company will usually be more prepared to accept a share-for-share exchange when the shares offered are marketable and have been efficiently priced. Furthermore, when two companies propose to combine, the shareholders of each company can assess the attractiveness of the proposal more easily if the shares are listed.
The disadvantages of obtaining a stock exchange listing are as follows:
Flotation costs The costs of floating a company on a stock exchange can be high. The fees paid to professional advisors, such as lawyers and accountants, as well as underwriting fees often account for a large part of the total cost incurred.
Regulatory costs Once the company is floated, the cost of maintaining a stock exchange listing can be high. An important reason for this is the cost of additional regulatory requirements surrounding listed companies. The regulations of modern stock exchanges require greater transparency between management and owners and this causes some of the additional costs.
Control A company seeking a stock exchange listing must normally ensure that a substantial quantity of its total issued share capital is available to new investors. This means that the existing shareholders may suffer loss of control.
Investors expectations There is a widely-held view that investor expectations often put the directors of companies under pressure to produce gains over the short term. To do this, the directors may take decisions that have an adverse effect on the long-term profitability of the business. However, the evidence to support this view is flimsy.
Public scrutiny Listed companies attract much attention from investors, the financial press and the broadcasting media. Being in the public spotlight makes it difficult for a company to engage in controversial activities or to conduct sensitive negotiations. It also makes it difficult for directors to hide poor decisions.
Takeover target The existence of a ready market for shares in a listed company means that a listed company is much more vulnerable to a takeover than an unlisted company. A listed company may be particularly vulnerable when there is a fall in its share price, perhaps caused by disillusionment with the level of returns that are being provided.
Marking Scheme
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Answer 3

(a)

1.
Venture capital is long-term capital that is available for around five years. It is normally offered by specialist institutions, and is aimed at small and medium-size businesses that have a fairly high level of risk.
2.
Venture capitalists are prepared to provide capital to such businesses if the expected returns are commensurate with the level of risk taken. This means that venture capitalists will only be interested in a business with good profit and growth prospects. The amount of capital invested will vary according to need and may be provided in stages, subject to certain key objectives being met.

[2 marks]
A venture capitalist may be interested in providing capital for the following types of business situations.
Business start-ups This can cover a wide range of situations from businesses that are still at the concept stage through to businesses that are about to begin operations. In practice it seems that venture capitalists prefer to invest in start-ups that are fairly well advanced.
Growth capital This is designed for businesses that have passed the start-up phase and are seeking capital for further expansion. It is, therefore, a form of second-stage funding.
Management acquisitions Venture capitalists will often provide capital for managers that wish to take over an existing business. The managers may be already employed by the business or they may be outside managers that are looking for a vehicle for their ambitions. This type of financing has proved to be extremely popular among venture capitalists in recent years.
Share purchases Capital may be provided to help finance the buy out of a part-owner of a business. This may be provided to someone outside the business or to the other part-owners.
Business recoveries Capital may be provided to help turn round the fortunes of a business that is currently experiencing difficulties.
Venture capitalists do not usually look for quick cash returns and are often content to wait for a cash return on realisation of the investment.

[Any five types of business – 5 marks]
(b)

1.
The directors of a business must recognise that venture capitalists will be seeking high returns for the risks that they are prepared to undertake. This is likely to mean that the directors will be under considerable pressure to perform and to meet agreed targets.
2.
The venture capitalists will usually expect to work closely with the business in order to protect the investment made. It is quite common for venture capitalists to have a representative on the board of directors and to be consulted over any proposed changes to agreed plans.
3.
It is also quite common for the venture capitalist to receive forecasts and other financial information to help monitor the direction and performance of the business.
4.
The venture capitalist will expect to receive an equity stake in the business and will often sell this stake after a period of five years or so. Hence, the directors should appreciate that the business may be sold to another business or come under the control of other investors at some stage.

[4 marks]
(c)

The key factors that a venture capitalist may take into account include the following:
Financial performance The financial track record of the business to date as well as forecast performance will be closely scrutinised. Where forecasts are presented, the validity of the underlying assumptions as well as key estimates will be checked.
The market for the products or services The nature of the market is an important factor to consider. The degree of competition, the threat of substitutes, the bargaining power of suppliers and employees and the barriers to market entry will be considered along with the size and future prospects for the market as a whole. In addition, the standing of the business within the market, as viewed by customers and suppliers, will be examined.
Owner investment The owners will usually be required to invest a significant proportion of their personal wealth in the venture. The venture capitalist will expect the owners to demonstrate their belief in the venture in a tangible way.


The quality of management The quality of management will often be the most important factor in the future success of the business. Thus, the management team will be examined to see whether it has the right blend of skills, and experience to manage the business. The commitment of the managers and their ability to work together as an effective team will also be scrutinised.
Risk The different types of risk that will be encountered by the business and the ways in which these risks will be managed will be identified and evaluated.
Business operations The nature and complexity of internal business operations will be examined to see whether these are dependent on key skills or key individuals. The effectiveness and efficiency of the operations will also be examined.
Exit route The venture capitalist will seek to realise the investment in the business at some point. This may be done in various ways, such as floating the company and then selling the shares through the Stock Exchange or by a sale to another business. The venture capitalist will normally identify a possible exit route and time frame before entering into the investment.

[2 marks per point, max. 9 marks]
Marking Scheme
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Answer 4
(a)

Theoretical ex rights price

	
	£
	Marks

	EPS (£21m/240m)
	0.0875
	[1]

	
	
	

	Market value per ordinary share (16 x £0.0875)
	1.40
	[1]

	
	
	

	Original shares (5 x £1.40)
	7.00
	

	Rights share [1 x (£1.40 x 0.7)]
	0.98
	

	
	7.98
	

	
	
	

	Value of a share following the rights issue (£7.98/6)
	1.33
	[3]


(b)

Value of rights

	
	£
	Marks

	Value of share after rights issue
	1.33
	[1]

	Cost of acquiring a rights share
	0.98
	[1]

	Value of rights
	0.35
	[1]


(c)

Evaluation of options

Take up rights offer

	Take up rights offer
	£
	Marks

	Value of share following rights issue

[(10,000 + 2,000) x £1.33]
	15,960
	

	Less: Cost of purchasing rights issue (2,000 x £0.98)
	(1,960)
	

	
	14,000
	[2]

	Sell rights
	
	

	Value of share following rights issue (10,000 x £1.33)
	13,300
	

	Add: Sale of rights (2,000 x £0.35)
	700
	

	
	14,000
	[2]

	Allow rights offer to lapse
	
	

	Value of shares after rights issue (10,000 x £1.33)
	13,300
	[1]


The calculations indicate that the wealth of the investor will be unaffected whether a decision is made to take up the rights offer or to sell the rights. The only difference will be in the form that the investor’s wealth will take. However, if the investor allows the rights offer to lapse, there will be a loss of wealth of £700. Thus, there is an incentive for the investor not to allow the offer to lapse. In practice, the business may sell the rights on behalf of the investor and then pass on the proceeds. However, it is under no obligation to do this.
[3 marks]
(d)

1.
The business will be seeking to raise a particular sum when making a rights issue and this can be raised in various ways. In the case of Sagitta plc above, a one-for-five issue was made at an issue price of £0·98. However, the same amount could have been raised by a two-for-five issue at £0·49, a three-for-five issue at £0·327 etc. The price of the issue will not be critical in a competitive market as it should have no effect on the total value of the underlying assets of the business or the proportion of those assets owned by a particular shareholder.
2.
However, the business must ensure that the issue price is below the market value of the shares. Unless this is done, there will be no incentive to buy the shares and the issue will fail.

[2 marks per point, total 4 marks]
Marking Scheme
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Answer 5

(a)

There are currently 10m shares in issue. A 2 for 5 rights issue would mean that 4m additional shares would have to be issued (10m x 2/5).

The rights issue must raise $24m. Therefore the new shares must be issued at a price of $6 per share ($24m/4m).

Assuming that all the rights are taken up, the share capital in issue will be made up as follows:

	
	$000

	10m existing shares at $6.60
	66,000

	4m new shares at $6.00
	24,000

	Total market capitalization
	90,000


Total number of shares in issue = 14m

Theoretical ex rights price = $6.43

(b)

If the debenture issue is made, the number of equity shares in issue will be unchanged at 10m.

The profit available for dividend will be reduced by the amount of the debenture interest, which is $1.8m per year ($24m x 7.5%), giving an annual dividend of $7.2m.

(c)

To:
Chairman

From:
Finance Director

Date:
20 November 2007

Subject:
Financing alternatives for the new investment

Introduction

The new contract is large in relation to the size of the company, and therefore the new external source of finance could have a significant effect on the existing capital structure of the business, and on its ownership and control. There are two main sources of finance that are being considered, namely a rights issue and a debt issue, and these will be considered in more detail below. The final section of the report will consider some further methods of raising equity finance that are available to XTA Co.

(i)
Rights issue versus debenture issue
Ownership
The rights issue is large in relation to the existing equity in issue, and requires a significant additional investment on the part of the shareholders. If shareholders are likely to be unwilling or unable to exercise their rights, the company should consider underwriting the issue. The underwriters will then take up any shares that remain unsold, but this could result in a change in the balance of control. A debt issue by contrast would result in no change in control.

Problems with all equity financing

The company is currently 100% equity financed, and this would continue to be the case in the event of a rights issue. This means that the level of financial risk faced by the shareholders is low. However, it also means that the company cannot take advantage of the lower cost and tax benefits of debt finance, and that therefore the potential returns to equity are lower than they might be if some debt were to be used.

Introduction of gearing

A debt issue of this size would introduce a significant element of gearing into the company. The value of debt in the company structure would be $24m, and the value of equity would be $72m (10m x $7.2). This gives a gearing ratio of 25% (ratio of prior charge capital to total capital). This represents a significant change in the level of financial risk faced by shareholders, and their attitude to this must be taken into account in making the financing decision.

Issue costs

The calculations ignore issue cost. These may be significant for a rights issue, amounting on average to 4% of the finance raised, although this percentage rises for small issues. The issue costs of debt would be less than for a rights issue.

Flexibility

Debt issues are commonly linked to restrictive covenants that limit the company’s further ability to borrow. The effect of such covenants on the future needs of the company must be taken into account. Equity funding would impose no such restriction.

(ii)
Further methods of raising equity finance
(1)
A placing
This is an arrangement whereby the shares are not all offered to the public, but instead, the sponsoring market maker arranges for most of the issue to be bought by a small number of investors, usually institutional investors such as pension funds and insurance companies. The issuing costs would be lower that for a rights issue, but the position with regard to pre-emption rights of the existing shareholders may have to be resolved. There could be a significant effect on the control of the business if the new shares are concentrated in the hands of a small number of institutional investors.

(2)
Offer for sale

This means that XTA Co would allot new shares to an issuing house. The issuing house would then offer the shares for sale on the basis of a prospectus, either at a fixed price or by tender. The issuing costs would be significantly higher than for a rights issue. This is particularly true for fixed price offers where there is a higher risk that not all the shares will be subscribed. However, the effect on the control of the company is likely to be less than for a placing.

(3)
Public offer for subscription

This is the direct offer of shares to the public by the company using a prospectus. Issuing costs, underwriting and publicly costs are high. It is only appropriate for large issues of shares.

(iii)
Loan stock with warrants
A warrant is a right given by a company to investors, allowing them to subscribe for new shares at a future date at a fixed pre-determined price. Warrants are usually issued with unsecured loan stock to make the stock more attractive.

XTA Co’s position

From XTZ Co’s viewpoint warrants themselves do not involve the payment of any interest or dividends. Issuing stock with warrants could be a means of avoiding supplying security or having restrictive covenants imposed on the company. Debt issued with warrants will run to its full maturity, and so the company will be able to deduct interest from taxable profits, although the period of exercise of the warrants may not coincide with a time when XTA Co’s needs further equity capital. However the lack of security may well be a deterrent for many lenders.

Conclusion

Although alternative routes are available for raising equity, in this case the choice is really between a rights issue and a debenture issue. The key factors influencing the decision have been summarized above, but probably the major consideration will be the company’s attitude to financial risk. This will be significantly increased if the debenture is used, but on the other hand, the cost of this will be less than if more equity is issued, and the potential returns to equity are greater.

Answer 6

(a)

Rights issue price = 4·00 x 0·85 = £3·40

Theoretical ex rights price = ((5 x 4·00) + 3·40)/6 = £3·90 [2 marks]
Value of rights per existing share = (3·90 – 3·40)/5 = 10p [1 mark]
(b)

Value of 1,200 shares after rights issue = 1,200 x 3·90 =£4,680

Value of 1,000 shares before rights issue = 1,000 x 4·00 =£4,000

Value of 1,000 shares after rights issue = 1,000 x 3·90 = £3,900

Cash subscribed for new shares = 200 x 3·40 = £680

Cash raised from sale of rights = 1,000 x 0·1 = £100
The investor could do nothing, take up the offered rights, sell the rights into the rights market, or any combination of these actions. The effect of the rights issue on the wealth of the investor depends on which action is taken.
The rights issue has a neutral effect if the rights attached to the 1,000 shares are exercised to purchase an additional 200 shares, since the value of 1,200 shares after the rights issue (£4,680) is equal to the sum of the value of 1,000 shares before the rights issue (£4,000) and the cash subscribed for new shares (£680). Part of the investor’s wealth has changed from cash into shares, but no wealth has been gained or lost. The theoretical ex rights per share therefore acts as a benchmark following the rights issue against which other ex rights share prices can be compared.

[2 marks]
The rights issue also has a neutral effect on the wealth of the investor if the rights attached to existing shares are sold. The value of 1,000 shares after the rights issue (£3,900) plus the cash received from the sale of rights (£100) is equal to the value of 1,000 shares before the rights issue (£4,000). In this case, part of the investor’s wealth has changed from shares into cash.

[2 marks]
If the investor neither subscribes for the new shares offered nor sells the rights attached to the shares already held, a loss of wealth of £100 will occur, due to the difference between the value of 1,000 shares before the rights issue (£4,000) and the value of 1,000 shares after the rights issue (£3,900).

[2 marks]
The theoretical ex rights price is simply a weighted average of the cum rights price and the rights issue price, ignoring any use made of the funds raised. The actual ex rights price will depend on the use made of the funds raised by the rights issue, as well as the expectations of investors and the stock market.
(c)

Current share price = £4·00

Earnings per share = 100 x (4·00/15·24) = 26·25p [1 mark]
Number of ordinary shares = 2m/0·5 = 4m shares

Earnings of Tirwen = 4m x 0·2625 = £1·05m [1 mark]
Funds raised from rights issue = 800,000 x £4·00 x 0·85 = £2,720,000 [1 mark]
Funds raised less issue costs = 2,720,000 – 220,000 = £2,500,000

Debenture interest saved = 2,500,000 x 0·12 = £300,000 [1 mark]
Profit before tax of Tirwen = 1,050,000/(1 – 0·3) = £1,500,000

Current debenture interest paid = 4,500,000 x 0·12 = £540,000

Current overdraft interest = 1,250,000 x 0·07 = £87,500

Total interest = 540,000 + 87,500 = £627,500

Current profit before interest and tax = 1,500,000 + 627,500 = £2,127,500

Revised total interest = 627,500 – 300,000 = £327,500

Revised profit after tax = (2,127,500 – 327,500) x 0·7 = £1,260,000 [1 mark]
(Or revised profit after tax = 1,050,000 + (300,000 x 0·7) = £1,260,000)

New shares issued = 4m/5 = 800,000

Shares in issue = 4,000,000 + 800,000 = 4,800,000

Revised earnings per share = 100 x (1,260,000/4,800,000) = 26·25p [1 mark]
(d)

1.
As the price/earnings ratio is constant, the share price expected after redeeming part of the debentures will remain unchanged at £4·00 per share (26·25 x 15·24).
2.
Since this is greater than the theoretical ex rights share price of £3·90, using the funds raised by the rights issue to redeem part of the debentures results in a capital gain of 10p per share.
3.
The proposal to use the rights issue funds to redeem part of the debentures therefore results in an increase in shareholder wealth.

[3 marks]
(e)

A rights issue will be an attractive source of finance to Tirwen plc as it will reduce the gearing of the company. The current debt/equity ratio using book values is:

Debt/equity ratio = 100 x 4,500/3,500 = 129%

Including the overdraft, debt/equity ratio = 100 x 5,750/3,500 = 164%
Both values are above the sector average of 100% and issuing new debt will not be attractive in this situation. A substantial reduction in gearing will occur, however, if the rights issue is used to redeem £2·5m of debentures:

Debt/equity ratio = 100 x 2,000/6,000 = 33%

Including the overdraft, debt/equity ratio = 100 x 3,250/6,000 = 54%
If the rights issue is not used to redeem the debenture issue, the decrease in gearing is less dramatic:

Debt/equity ratio = 100 x 4,500/6,000 = 75%

Including the overdraft, debt/equity ratio = 100 x 5,750/6,000 = 96%

[2 marks]
In both cases, the debt/equity ratio falls to less than the sector average, signalling a decrease in financial risk. The debt/equity ratio would fall further if increased retained profits were included in the calculation, but the absence of information on Tirwen’s dividend policy makes retained profits uncertain.

[2 marks]
If the rights issue is used to redeem £2·5m of debentures, there will be an improvement in interest cover from 3·4 times (2,127,500/627,500), which is below the sector average of 6 times, to 6·5 times (2,127,500/327,500), which is marginally better than the sector average. Interest cover might also increase if the funds raised are invested in profitable projects.

[2 marks]
A rights issue will also be attractive to Tirwen plc since it will make it more likely that the company can raise further debt finance in the future, possibly at a lower interest rate due to its lower financial risk.

[1 mark]
It should be noted that a decrease in gearing is likely to increase the average cost of the finance used by Tirwen plc, since a greater proportion of relatively more expensive equity finance will be used compared to relatively cheaper debt. This will increase the discount rate used by the company and decrease the net present value of any expected future cash flows.
Marking Scheme
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Answer 7
(a)

A yield curve may be upward sloping because of:

(i)
Future expectations. If future short-term interest rates are expected to increase then the yield curve will be upward sloping.

(ii)
Liquidity preference. It is argued that investors seek extra return for giving up a degree of liquidity with longer-term investments. Other things being equal, the longer the maturity of the investment, the higher the required return, leading to an upward sloping yield curve.

(iii)
Preferred habitat/market segmentation. Different investors are more active in different segments of the yield curve. For example banks would tend to focus on the short-term end of the curve, whilst pension funds are likely to be more concerned with medium and long term segments. An upward sloping curve could be in part be the result of a fall in demand in the longer term segment of the yield curve leading to lower bond prices and higher yields.

(b)(i)

The current market prices of the two bonds may be estimated to be:
Zero coupon = 
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12% gilt with a semi-annual coupon

PV of an annuity for 30 periods at 3% is 
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If interest rates increase by 1%

Zero coupon = 
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12% gilt

PV of an annuity for 30 periods at 3.5% is 
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This is a decrease of $12.82 or 8.1%

If interest rates decrease by 1%:
Zero coupon = 
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12% gilt with a semi-annual coupon

PV of an annuity for 30 periods at 2.5% is 
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	$6 x 20.9303 =
	$125.58

	PV of redemption
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	173.25


This is an increase of $14.45 or 9.1%
(ii)

The price/yield relation is not linear; it has a convex shape. There is a bigger absolute movement in bond prices when interest rates fall than when they rise. The percentage movement is also higher for low coupon bonds than high coupon bonds. Other things being equal, a financial manager would prefer to hold high coupon bonds if interest rates are expected to increase, and low or zero coupon bonds when interest rates are expected to decrease.
(iii)

If interest rates are expected to rise, and the gap between yields on short and long dated bonds to widen, the financial manager would not want to hold longer dated bonds as these would suffer a larger fall in price than short dated bonds.

Short dated bonds, probably with high coupons, would be preferred.

(c)(i)

The bonds of Magnacorp offer a redemption yield of 7%, 10 year maturity and a credit rating of A-. The closest alternative to this investment is Suprafirm, with a redemption yield of 7.5%, an identical maturity and a very similar credit rating (BBB+ against A-). As the yield to redemption is higher for an almost identical bond, the fund management might consider switching from the bonds of Magnacorp to the bonds of Suprafirm as long as the extra yield compensates for the risk difference between the investments and any transactions costs.
(c)(ii)

The expected market price of Grandit with a coupon of 7.8% and redemption of 6.0% is:
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The current market price is 40 cents lower than might be expected.

(c)(iii)

A fall in interest rate will lead to an increase in bond prices and the value of a bond portfolio. The greater the fall in interest rates ceteris paribus the greater the rise in bond value. If medium term interest rates are expected to fall by more than long-term rates then it might be worth selling the longer term bonds of Maganacorp and buyin the medium-term bonds of Grandit before any fall in interest rates occurred. Additionally low coupon bonds are more sensitive, ceteris paribus, to changes in interest rates would influence the decision, as would the fact that the bonds of Grandit appear to be currently 40 cents under priced.

Answer 8
(a)

Echo Co paid a total dividend of $2 million or 20c per share according to the income statement information. An increase of 20% would make this $2·4 million or 24c per share and would reduce dividend cover from 3 times to 2·5 times. It is debatable whether this increase in the current dividend would make the company more attractive to equity investors, who use a variety of factors to inform their investment decisions, not expected dividends alone. For example, they will consider the business and financial risk associated with a company when deciding on their required rate of return.
It is also unclear what objective the finance director had in mind when suggesting a dividend increase. The primary financial management objective is the maximisation of shareholder wealth and if Echo Co is following this objective, the dividend will already be set at an optimal level. From this perspective, a dividend increase should arise from increased maintainable profitability, not from a desire to ‘make the company more attractive’. Increasing the dividend will not generate any additional capital for Echo Co, since existing shares are traded on the secondary market.
Furthermore, Miller and Modigliani have shown that, in a perfect capital market, share prices are independent of the level of dividend paid. The value of the company depends upon its income from operations and not on the amount of this income which is paid out as dividends. Increasing the dividend would not make the company more attractive to equity investors, but would attract equity investors who desired the new level of dividend being offered. Current shareholders who were satisfied by the current dividend policy could transfer their investment to a different company if their utility had been decreased.
The proposal to increase the dividend should therefore be rejected, perhaps in favour of a dividend increase in line with current dividend policy.
(b)
1.
The proposal to raise $15 million of additional debt finance does not appear to be a sensible one, given the current financial position of Echo Co. The company is very highly geared if financial gearing measured on a book value basis is considered. The debt/equity ratio of 150% is almost twice the average of companies similar to Echo Co. This negative view of the financial risk of the company is reinforced by the interest coverage ratio, which at only four times is half that of companies similar to Echo Co.
2.
Raising additional debt would only worsen these indicators of financial risk. The debt/equity ratio would rise to 225% on a book value basis and the interest coverage ratio would fall to 2·7 times, suggesting that Echo Co would experience difficulty in making interest payments.
3.
The proposed use to which the newly-raised funds would be put merits further investigation. Additional finance should be raised when it is needed, rather than being held for speculative purposes. Until a suitable investment opportunity comes along, Echo Co will be paying an opportunity cost on the new finance equal to the difference between the interest rate on the new debt (10%) and the interest paid on short-term investments. This opportunity cost would decrease shareholder wealth. Even if an investment opportunity arises, it is very unlikely that the funds needed would be exactly equal to $15m.
4.
The interest charge in the income statement information is $3m while the interest payable on the 8% loan notes is $2·4m (30 x 0·08). It is reasonable to assume that $0·6m of interest is due to an overdraft. Assuming a short-term interest rate lower than the 8% loan note rate – say 6% – implies an overdraft of approximately $10m (0·6/0·06), which is one-third of the amount of the long-term debt. The debt/equity ratio calculated did not include this significant amount of short-term debt and therefore underestimates the financial risk of Echo Co.
5.
The bond issue would be repayable in eight years’ time, which is five years after the redemption date of the current loan note issue. The need to redeem the current $30m loan note issue cannot be ignored in the financial planning of the company. The proposal to raise £15m of long-term debt finance should arise from a considered strategic review of the long-term and short-term financing needs of Echo Co, which must also consider redemption or refinancing of the current loan note issue and, perhaps, reduction of the sizeable overdraft, which may be close to, or in excess of, its agreed limit.
6.
In light of the concerns and considerations discussed, the proposal to raise additional debt finance cannot be recommended.
Analysis

Current gearing (debt/equity ratio using book values) = 30/20 = 150%

Revised gearing (debt/equity ratio using book values) = (30 + 15)/20 = 225%

Current interest coverage ratio = 12/3 = 4 times

Additional interest following debt issue = 15m x 0·1 = $1·5m

Revised interest coverage ratio = 12/(3 + 1·5) = 2·7 times
(c)

Analysis

Rights issue price = 2·30 x 0·8 = $1·84

Theoretical ex rights price = (1·84 + (2·30 x 4))/5 = $2·21 per share [1 mark]
Number of new shares issued = (5/0·5)/4 = 2·5 million

Cash raised = 1·84 x 2·5m = $4·6 million [1 mark]
Number of shares in issue after rights issue = 10 + 2·5 = 12·5 million

Current gearing (debt/equity ratio using book values) = 30/20 = 150%

Revised gearing (debt/equity ratio using book values) = 30/24·6 = 122%

Current interest coverage ratio = 12/3 = 4 times

Current return on equity (ROE) = 6/20 = 30%
In the absence of any indication as to the return expected on the new funds, we can assume the rate of return will be the same as on existing equity, an assumption consistent with the calculated theoretical ex rights price.
After-tax return on the new funds = 4·6m x 0·3 = $1·38 million

Before-tax return on new funds = 1·38m x (9/6) = $2·07 million

Revised interest coverage ratio = (12 + 2·07)/3 = 4·7 times
1.
The current debt/equity and interest coverage ratios suggest that there is a need to reduce the financial risk of Echo Co. A rights issue would reduce the debt/equity ratio of the company from 150% to 122% on a book value basis, which is 50% higher than the average debt/equity ratio of similar companies. After the rights issue, financial gearing is still therefore high enough to be a cause for concern.
2.
The interest coverage ratio would increase from 4 times to 4·7 times, again assuming that the new funds will earn the same return as existing equity funds. This is still much lower than the average interest coverage ratio of similar companies, which is 8 times. While 4·7 times is a safer level of interest coverage, it is still somewhat on the low side.
3.
No explanation has been offered for the amount to be raised by the rights issue. Why has the Finance Director proposed that $4·6m be raised? If the proposal is to reduce financial risk, what level of financial gearing and interest coverage would be seen as safe by shareholders and other stakeholders? What use would be made of the funds raised? If they are used to redeem debt they will not have a great impact on the financial position of the company, in fact it appears likely that that the overdraft is twice as big as the amount proposed to be raised by the rights issue. The refinancing need therefore appears to be much greater than $4·6m.
4.
If the funds are to be used for investment purposes, further details of the investment project, its expected return and its level of risk should be considered.
Conclusion:

5.
There seems to be no convincing rationale for the proposed rights issue and it cannot therefore be recommended, at least on financial grounds.

[Maxi. 7 marks]
(d)
1.
Operating leasing is a popular source of finance for companies of all sizes and many reasons have been advanced to explain this popularity. For example, an operating lease is seen as protection against obsolescence, since it can be cancelled at short notice without financial penalty.
2.
The lessor will replace the leased asset with a more up-to-date model in exchange for continuing leasing business. This flexibility is seen as valuable in the current era of rapid technological change, and can also extend to contract terms and servicing cover.
3.
Operating leasing is often compared to borrowing as a source of finance and offers several attractive features in this area. There is no need to arrange a loan in order to acquire an asset and so the commitment to interest payments can be avoided, existing assets need not be tied up as security and negative effects on return on capital employed can be avoided.
4.
Since legal title does not pass from lessor to lessee, the leased asset can be recovered by the lessor in the event of default on lease rentals. Operating leasing can therefore be attractive to small companies or to companies who may find it difficult to raise debt.
5.
Operating leasing can also be cheaper than borrowing to buy. There are several reasons why the lessor may be able to acquire the leased asset more cheaply than the lessee, for example by taking advantage of bulk buying, or by having access to lower cost finance by virtue of being a much larger company.
6.
The lessor may also be able use tax benefits more effectively than the lessee. A portion of these benefits can be made available to the lessee in the form of lower lease rentals, making operating leasing a more attractive proposition that borrowing.
7.
Operating leases also have the attraction of being off-balance sheet financing, in that the finance used to acquire use of the eased asset does not appear in the balance sheet.

[6 marks]
ACCA Marking Scheme
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